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Correct Marks: 2 WrongMarks: 0



What is ‘syllogism’?
A. It is a form of reasoning in which conclusion is drawn from two given or assumed
proposition.

B. It is a form of reasoning that involves comparison between one thing and another.
C. Itis aform of inductive reasoning.

D. None of the above.

Options:

12820644647, 4

12820644648, B

12820644649, C

12820644650, D

Question Number : 2 Question Id : 12820611299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A non-probability sampling technique, where existing study subjects recruit future subjects
from among their acquaintances is known as:

A. Simple random sampling
B. Snowball Sampling

C. Stratified random sampling
D. None of the above

Options:

12820644651 A
12820644652 . B
12820644653 C
122206844654 D

Question Number : 3 Question Id : 12820611300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Economic disparities and inequalities create conditions that could provoke popular
mobilization for revolution.” In this statement, revolution is a:

A. Dependent variable
B. Explanatory variable
C. Situational variable
D. Intervening variable

Options:

12820644655 A
12820644556 . B
12320644657, C
12320644658, D

Question Number : 4 Question Id : 12820611301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements is incorrect?

A. The behavioural method in political science promises value-neutrality

B. The behavioural method in political science originated with Charles Merriam.

C. The behavioural method in political science focuses on how individuals in public
institutions ought to behave.

D. The behavioural method in political science believes in the value of quantitative and
statistical research.

Options:

12820644659, A

12820644660, B

12820644661, C

12820644662, D

Question Number : 5 Question Id : 12820611302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What do “Bluebook” and “Oscola” refer to?
A. Styles of judicial decision-making.
B. Format of citation.
C. Format for legal argumentation.
D. None of the Above.

Options:

12520644863, A
12820644664, B
12820644665, C
12820644666, D

Question Number : 6 Question Id : 12820611303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What are the two primary tests to decipher the ratio of a case?

A. Railing test and Kelsen method

B. Wambaugh test and Goodhart method
C. Bamberg test and Cardozo method

D. None of the Above.

Options:

12520644867, A
12820644665, B
12820644669, C
12820644670, D

Question Number : 7 Question Id : 12820611304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statement is true?

A. There is a presumption against prospective effect of statutes.
B. There is a presumption against retrospective effect of statutes.
C. Both the Above.
D. None of the Above.
Options:
12820644671, &4
12820644672, B
12820644673, C
12820644674, D

Question Number : 8 Question Id : 12820611305 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is a disadvantage of randomization?
A. Economy

B. Unrepresentative

C. Statistical in nature

D. Convenient
Options:
12820644675, A
12820644676, B
12820644677, C
12820644678, D

Question Number : 9 Question Id : 12820611306 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
To study the relationship between family size and income a researcher classifies the

population into different income slabs and then takes a random sample from each slab.
Which technique of sampling has the researcher adopted?

A. Random sampling

B. Snowball Sampling

C. Stratified Random Sampling
D. Cluster Sampling

Options:

12820644679, A

12820644680, B

128206446581, C

12820644682, D

Question Number : 10 Question Id : 12820611307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Which branch of Philosophy of Science is concerned with questions about knowledge?’
A. Logic
B. Metaphysics

C. Epistemology
D. Aesthetics

Options:

12320644653, A
12820644684, B
12820644685,
12820644686, D

Question Number : 11 Question Id : 12820611308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to Rawls, how are the principles of justice are determined behind the wveil of
ignorance?

A. Theyare imposed by some who knows.
B. Theyare randomly arrived at

C. Theyare decided by the state

D. Theyare arrived at by fair agreement

Options:

12820644687 A
128206446858. B
12820644689, C
123206446390, D

Question Number : 12 Question Id : 12820611309 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
.Ontology is:

A. Study of the nature, scope, and limits of knowledge
B. Study of attempt standard of living

C. Study of what exists and how it exists

D. Study of aesthetics and positivity

Options:

12820644691, A
12320644592 E
122206844693, C
12820644694, D

Question Number : 13 Question Id : 12820611310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Suresh goes to a sweet shop behind his house and asks the shopkeeper for a sample of
Gulab Jamun and tastes it. The sample tastes sour and stale and Suresh decides that the
entire lot of Gulab Jamuns in the shop are stale and does not purchase any sweets.

This is a case where Suresh’s decision is best described as being guided by

A. Beinglrrational
B. Deductive Logic
C. Inductive Logic
D. Abductive Logic

Options:

12320644695 A
12320644596 B
12320644697, C
12820644698. D

Question Number : 14 Question Id : 12820611311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Please read the following cases of deductive reasoning:
Case 1

e Every computer sold by Kranti Computers has a three-year warranty
e Shaid bought a computer from Kranti Computers
e Shaid’s computer has a three-year warranty.

Case 2

e Every computer sold by Kranti Computers has a three-year warranty
e Shaid’s computer has a three-year warranty
e Shaid’s computer was sold by Kranti Computers

Which of the following statements is correct?

A. No conclusions can be drawn from the premises in both cases

B. Both deductions are built on premises that are true and therefore both the conclusions
are true.

C. Both deductions are built on premises that are necessarily false and therefore both the
conclusions are false.

D. Both deductions are built on premises, if true, lead to a valid conclusion in Case 1 but
not in Case 2

Options:
12520644599, A

12820644700, B
12820644701, C
1282064470z, D



Question Number : 15 Question Id : 12820611312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is not a data-collection method?
A. Unstructured interviews

B. Telephone survey questionnaires

C. Participant observation

D. Research questions

Options:

12820644703 A
12820644704, B
12320644705, C
12220844706, D

Question Number : 16 Question Id : 12820611313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Feminist standpoint theory advocates a method which takes into account that:

A. Knowledge is gendered.
B. Experience does not matter.

C. Only men can research gender related issues.
D. None of the Above

Options:

12820644707, &

12820644708, B

12820644709, C

12820644710. D

Question Number : 17 Question Id : 12820611314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are propositions?

A. Dogs are mammals.

B. 2+2=7

C. Itis wrongto murder innocent people for fun.
D. All of the above.

Options:

12820644711, &

12820644712, B

12820644713, C

12820644714, D

Question Number : 18 Question Id : 12820611315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Anthropological methods include:
A. Participant Observation

B. Rapport

C. Immersion in culture

D. All the above.

Options:

12820644715 A
12820644716 . B
12320644717 C
123206447158. D

Question Number : 19 Question Id : 12820611316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Thick description is usually associated with which of the following research methods

A. Ethnography

B. Survey

C. Focus group discussion
D. Structured interviews

Options:

12820644719 A
12820644720 B
12820644721, C
12320644722 D

Question Number : 20 Question Id : 12820611317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is semiotics?

A. Formal analysis of visual text

B. Quantitative analysis of visual texts

C. Study of signs and their interpretation
D. All of the above

Options:

12820644722 A
12820644724 B
12820644725 C
12320644726, D
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Time's unknowable perils contributed to the flourishing of economic thought. But then
something interesting happened. The creature became the creator: The economy re-invented
time. Or, to put things less obliguely, the age of exploration and the industrial revolution

completely changed the way people measure time, understand time, and feel and talk about
time.

Just think: What do you look forward to when you’re at work? Maybe it's a happy hour, the
weekend, or, in the more distant future, retirement. Each of these are distinct periods of time,
and each is an invention of the last 150 years of economic change.

The word weekend is a creation of the industrial revolution, since a discrete working week
doesn't make much sense on a farm that needs constant tending. Retirement, as a term, dates
back to the 1600s, as it relates to army service, but its modern usage only became mainstream
after the move to an industrial economy. Happy hour is a neologism from the 1950s, a heyday

for workplace optimism. The equally hopeful T.G...F. acronym comes from the post-World War
Il era.

Three forces contributed to the modern invention of time. First, the conquest of foreign
territories across the ocean required precise navigation with accurate timepieces. Second, the
invention of the railroad required the standardization of time across countries, replacing the
local system of keeping time using shadows and sundials. Third, the industrial economy

necessitated new labor laws, which changed the way people think about work.

Sub questions

Question Number : 21 Question Id : 12820611319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage , the concept of time changed with
A. Changes in the economy

B. The age of exploration

C. The Industrial Revolution

D. All of the above

Options:

12820644727, &

12820644728, B

12820644729, C

12820644730. D

Question Number : 22 Question Id : 12820611320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to the passage , the concept of a Weekend is associated with

A. Farming

B. Industrial Revolution
C. Army service

D. None of the above
Options:

12820644731, &
12820644732, B
12820644733, C
12820644734, D

Question Number : 23 Question Id : 12820611321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Happy hour according to the passage is a neologism associated from the 1950s with the
optimism associated with

A. Capitalism
B. Industry
C. Workplace

D. All of the above

Options:

12820644735 A
12820644736, B
12320644737 (C
128206844728, D

Question Number : 24 Question Id : 12820611322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The modern concept of time is explained by
A. Conquest of foreign territories

B. Invention of railroads

C. The way people think about work

D. Allthe above

Options:

12820644739 A
12320644740 B
128206844741, C
12820644742, D
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, standardization of time was required for the
A. Introduction of railroads

B. Precise navigation

C. Both of the above

D. Capitalist farming

Options:

12320644742 A
12820644744 B
12820644745
12820644746 D
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Question Number : 26 Question Id : 12820611324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following constitutional functionaries is empowered to discharge the functions

of the President in the event of the occurrence of vacancies in the offices of both the
President and the Vice-President, by reason in each case of death, resignation, removal, or

otherwise?

A. The Speaker of the Lok Sabha.

B. The Deputy Chairperson of the Rajya Sabha.

C. The Chief Justice of India.

D. Any of the above authorized by the by the Parliament by resolution.

Options:

12820644747 A
12320644745 B
128206844749 C
12320644750, D

Question Number : 27 Question Id : 12820611325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following rights is not guaranteed as a fundamental right under the
Constitution of India?

A. No person shall be convicted of any offence except for violation of the law in force at
the time of the commission of the act charged as an offence, nor be subjected to a
penalty greater than that which might have been inflicted under the law in force at the
time of the commission of the offence.

B. No person shall be prosecuted and punished for the same offence more than once.

No person accused of any offence shall be compelled to be a witness against himself.

D. No person accused of any offence shall be presumed guilty unless it is proved according
to the procedure established by law.

o

Options:

12320644751 A
12520644752, B
12820644753, C
12820644754 D

Question Number : 28 Question Id : 12820611326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statement is true as regards the decision of the Supreme Court of
India in Navtej Singh Johar v. Union of India (2018).

A. Section 377 of the Indian Penal Code was declared unconstitutional in entirety.
B. Section 377 of the Indian Penal Code was declared unconstitutional only to the extent it
criminalizes consensual sexual acts of adults.

C. The constitutional validity of Section 377 of the Indian Penal was upheld.

D. None of the above.
Options:

12820644755, A

12820644756. B

12820644757, C

12820644758, D

Question Number : 29 Question Id : 12820611327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-Which of these thinkers is associated with the idea of constitutional patriotism?

A. Jurgen Habermas
B. B.R. Ambedkar
C. Jawaharlal Nehru
D. John Rawls
Options:
12820644759, A
12820644760, B
12820644761, C



12820644762, D

Question Number : 30 Question Id : 12820611328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of these statements about cosmpolitanism is true:

A. Cosmopolitanism enjoins the dissolution of national boundaries and the creation of a
world state.

B. Cosmopolitanism is the idea that all human beings belong to a single community and
cultivate habits of conversation, transcending their different locations.

C. Cosmopolitanism treats everyone as equal, and does not recognize differences of
ethnicity, race, gender, language or religion.

D. Cosmopolitanism is the idea that all beings, human and non-human, are united by the
fact that they belong to one cosmos.
Options:
12820644763 A
12820644764, B
12820844785 C
12820644766 D

Question Number : 31 Question Id : 12820611329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Post-Washington Consensus is:

A. The consensus that the neo-liberal market fundamentalist policies of the Washington
Consensus were entirely mistaken.

B. The consensus arrived at between former U.S. Presidents George W. Bush and Barack

Obama to deal with the fallout of the Trump Presidency.

The consensus that multilateral economic institutions alone can bring prosperity.

D. The consensus that states have a greater role to play in the process of economic
development and poverty reduction.

0

Options:

12320644767 A
12320644768 B
12320644769, C
12820644770, D

Question Number : 32 Question Id : 12820611330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principle of citizenship based on descent is called
A. jus soli

B. jus sanguinis

C. jus gentium

D. jus naturale

Options:



12820644771, A
12820644772 B
12820644773, C
12820644774, D

Question Number : 33 Question Id : 12820611331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A Welfare State is typically funded by

A. Proportional Taxation
B. Progressive Taxation
C. Regressive Taxation
D. None of the above

Options:

12520644775 A
12820644776, B
12820644777 . C
128206447738, D

Question Number : 34 Question Id : 12820611332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which three terms were included in the preamble to the Constitution of India by the
Constitution (42nd Amendment) Act, 19767

A. Republic, Sovereign and Democracy
B. Socialist, Secular and Integrity

C. Secular, Democratic and Republic
D. None of the Above

Options:

12820644773 A
12820644780, B
12320644731, C
12320644732, D

Question Number : 35 Question Id : 12820611333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the objective of the Ninth Schedule to the Constitution of India?
A. To lmmunize certain laws against judicial review

B. Distribution of subject matters of laws made by Parliament and by legislatures of States
C. Languages recognized by the Constitution of India

D. Provisions as to the disqualification on Grounds of Defection

Options:

12820644783, A

12820644784, B

12820644785, C

12820644786. D



Question Number : 36 Question Id : 12820611334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- Which of the following statements are true

A. Depreciation and devaluation of currency are synonymous
B. Demonetization leads to depreciation of currency

C. Both of the above

D. None of the above

Options:

12320644737, A
128206447858. B
12820644789, C
12820644730, D

Question Number : 37 Question Id : 12820611335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Dumping by UK occurs when UK goods are sold for overseas
than

A. More, their UK cost of production

B. More, their UK price

C. Less, their UK cost of production

D. Less, their UK price

Options:

12820644731, A
12820644732 B
12820644733, C
12820644734, D

Question Number : 38 Question Id : 12820611336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
. Which of the following is not a factor of production?

A. Land

B. Labour
C. Money
D. Capital

Options:

12820644735 A
12820644736, B
12320644797 (C
128206844798, D

Question Number : 39 Question Id : 12820611337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Common but Differentiated Responsibility in global environmental regimes refers to which
of the following:

A. Both developed and developed countries bear equal responsibility in all respects to
meet environmental goals

B. Developing countries have different goals and timelines for meeting environmental
goals

C. Developed countries have different goals and timelines for meeting environmental goals

D. All the above.

Options:

123206447393 A
12320644200 . B
12320644501,
12820644802, D

Question Number : 40 Question Id : 12820611338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Limits of Growth thesis refers to which of the following:

A. Limits to economic growth imposed by declining consumption

B. Limits to environmental conservation owing to anthropocentric requirements
C. Limits to economic growth owing to earth’s carrying capacity

D. Allthe above.

Options:

12820644803, 4

12820644804, B

12820644805, C

128206448086. D

Question Number : 41 Question Id : 12820611339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Personal is political’ is a slogan coined by whom among the following?
A. Marxist
B. Feminists
C. Atheists
D. Anarchists
Options:
12820644807, 4
12820644808, B
12820644809, C
12820644810, D

Question Number : 42 Question Id : 12820611340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Hegemony is exercised through techniques of domination that are:
A. Internalized

B. Ideological

C. Coercive

D. All of the Above

Options:

12820644511 A
12320644212 B
128206844813 C
12320644514, D

Question Number : 43 Question Id : 12820611341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is a Panopticon?

) A symbol of the disciplinary society of surveillance
i) An Architecture of Control

i) A method of obtaining power of mind over mind
‘Iv) The name of a city

Options:

12820644515 A
12820644816. B
12820644517, C
123206442138. D

Question Number : 44 Question Id : 12820611342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Giorgio Agamben’s Homo Sacer: Sovereign Power and Bare Life is a treatise on:
A. States of Exception

B. The Legal History of Roman Law

C. Sexual Violence

D. None of the Above

Options:

12820644819, &4

12820644820, B

12820644821, C

12820644822, D

Question Number : 45 Question Id : 12820611343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The Chief Minister of Delhi is appointed by:

A. Lieutenant Governor of the National Capital Territory of Delhi

B. President of India

C. Lieutenant Governor of the National Capital Territory of Delhi on the advice of the
President of India

D. President of India on the advice of the Lieutenant Governor of the National Capital
Territory of Delhi

Options:

12320644323 A
12320644524 B
128206844825 C
12820644826. D

Question Number : 46 Question Id : 12820611344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Marxist feminists explain patriarchy in terms of:

A. Lack of equal rights and opportunities for men and women

B. Men oppressing women economically, politically and sexually

C. Women's domestic labour being exploited by the capitalist economy
D. The dual systems of capitalism and male domination

Options:

12820644527 A
12320644528 B
122206844829, C
12820644520, D

Question Number : 47 Question Id : 12820611345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the three statements below:

Statement 1: The Skill India program has by now trained the labour force to overcome
the skill deficit prevalent in India.

Statement 2: Sudhir is an accurate marksman.

Statement 3: How beautiful it is to hear the murmuring water of the Ganga at Haridwar
Which of the above statements can be considered as testable hypotheses?
Statements 1 and 3 but not Statement 2
Statement 1 only

Statement 1 and Statement 2 but not Statement 3
Statement 3 only

o0 PP

Options:

12820644531, A
12820644832 . B
12320644533 C
12320644824 D
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The strongest indication of Schmitt's antidemocratic orientations, however, comes from his
own theoretical preoccupation with the issues of political stability, unity of authority, and
efficient state power. But these matters cannot be said to compose the main inspirations of a
normative theory of democracy. Indeed, Schmitt's concerns do not look like those of the
modern democratic tradition, which include political autonomy, self-determination, collective
freedom, and social justice. There is no doubt that Schmitt was an authoritarian statist who
sought to support the modern state to "gain particularly solid authoritarian foundations,” and
who remained deeply affected by issues of discipline and hierarchy and anxious about the
alleged inability of modern mass societies to implement and guarantee order and security.
Instead of approaching the political from below- that is, from society-and from the point of
view of the self-organized popular masses, he accosted it from the top-that is, from the state-
and the perspective of the rulers. As he succinctly put it, "authority emanates from the top,
trust from the bottom.” It seems fair to argue, therefore, that Schmitt's definition of radical
democracy as the identification of the rulers with the ruled through the implementation of
relations of substantive equality- which in some cases may entail the elimination of the ruler as
a figure separated from the ruled, and the abolition of asymmetrical structures of command
and domination -appealed to Schmitt not because of its radical, anti-authoritarian participatory
implications, but because of its ability to procure order. This model of democracy, which
presupposes the total homogeneity of the people, implies the eradication of plurality, divisions,
cleavages, conflicts, and struggles-the main sources, for Schmitt, of social and political
instability. Thus, while Schmitt's invocation of identity and homogeneity might have helped him
to confront problems of discord, fragmentation, and ungovernability, which he thought to be
endemic to modem, highly differentiated, and plural liberal societies, it did so only at the cost
of threatening the political self-government of an autonomous people.
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What do you infer to be Schmitt’s political view?

A. Schmitt supported a liberal democracy

B. Schmitt supported popular political movements

C. Schmitt supported a politics that would lead to order
D. Schmitt supported a plutocracy

Options:

12820644535 A
12820644836. B
12820644837, C
123206448328. D
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What is the contradiction in Schmitt’s thought on democracy?

A. Privileging order over plurality but at the expense of countering political self-
government

B. Privileging righteousness over democracy but at the expense of countering political
self-government

C. Privileging plurality over order but at the expense of countering political self-
government

D. Privileging righteousness over plutocracy but at the expense of countering political self-
government

Options:

12820644529 A
12820644540, B
12820644541, C
12320644342 . D
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How is Schmitt’s understanding of democracy different from the modern democratic
tradition?

A. He supported a communist government

B. Instead of looking at issues approached from below he looked at the situation from the
viewpoint of the rulers

C. He was anti-authoritarian

D. Instead of looking at issues approached by the rulers he looked at the situation from the
viewpoint of those below.

Options:

12820644543 A
12820644544 B
12820644545,
12320644846, D



